Mutual Fund Course 200 Answers

Course 201

1.  B is correct. Analyzing returns in isolation does not provide a context in which to evaluate a fund's performance fairly. Instead, compare a fund to an index or a group of funds that buy the same types of securities.


2.  A is correct. In general, the greater the return on investment, the greater the potential for loss. Although Fund A is a higher returning fund, some investors might find it too volatile.


3.  B is correct. Compare a fund to a benchmark to see how competitive it has been. Consult the fund's portfolio and portfolio statistics, such as the Morningstar style box, to figure out how the manager invests.


4.  C is correct. The fund manager chooses investments for you. While the manager may practice a certain style that's common at the fund company he or she works for, the manager is the one choosing the individual securities.


5.  C is correct. You can't control the whims of the market--or the whims of your fund manager. You can only control how much you pay for your investments. That's why focusing on low-expense funds makes sense.


Course 202

1. C is correct. It's tempting to pick a fund that returns more than you need, but remember: The greater the return, the greater the potential for loss. Be sure the fund you pick has a history of returning as much as your benchmark, or you may not meet your goal.


2. B is correct. The DJIA is too narrow a benchmark for most large-company funds, and the MSCI EAFE index follows international stocks.


3. B is correct. The S&P 500 includes mostly large-company stocks, and the Lehman Brothers index follows bonds. Neither is an appropriate benchmark for small-company funds.


4. B is correct. In this case, the S&P 500 is probably a bad benchmark for this fund. It likely owns something other than large-company stocks and could very well look great relative to its Morningstar category peers.


5. B is correct. Though the S&P 500 is a fine benchmark for all types of large-company funds, the Morningstar category is better when analyzing large-cap growth or other specific types of funds. The DJIA is too narrow a benchmark for most large-company funds.
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1. A is correct. Standard deviation is not a relative measure; beta is. Moreover, a fund can theoretically have a low standard deviation and still lose money while a fund with a high standard deviation can never lose a dime.


2. B is correct. Future returns will fall within one standard deviation (returns between 2% and 22% in this case) of a fund's average return 68% of the time and within two standard deviations (returns between -8% and 32%) 95% of the time. 


3. C is correct. Standard deviation is not a relative measure. To determine whether a fund's standard deviation is high or low, compare it to the standard deviations of other funds or of an index.


4. C is correct. A fund with a beta of 1.20 is 20% more volatile than the index. So if the index falls, the fund will fall 1.20 times as much--here, 12%.


5. A is correct. The lower the R-squared, the less reliable beta is as a measure of volatility; the closer to 100 the R-squared is, the more reliable the beta. Standard deviation and R-squared have nothing to do with each other.
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1. B is correct. Morningstar compares the risk of each fund to other funds in the same Morningstar category. 


2. C is correct. Both Morningstar measures treat U.S. equity funds and bond funds separately, so you can't use them to compare a stock fund to a bond fund. Standard deviation is an absolute figure, so you can use it to compare the two funds.


3. B is correct. If you seek funds that offer a narrow range of returns, examine standard deviation. If you want funds that rarely underperform, look for low Morningstar risk scores.


4. B is correct. Morningstar risk is based on the idea that investors are more concerned about a probable loss than an unexpectedly high gain.


5. C is correct. Morningstar risk describes the variation in a fund's month-to-month returns, with an emphasis on downward variation.
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1. B is correct. Alpha hinges on beta, not standard deviation. Funds with positive alphas have returned more than their betas suggested they would return.


2. C is correct. With its beta, you'd expect Fund C to gain 8% (10% x 0.8 = 8%). It made almost twice that. Fund A should have gained 10%, so it earns a lower alpha than Fund C. Fund B should have returned 17%, so the fund has a negative alpha.


3. C is correct. Alphas aren't meaningful unless the fund's R-squared is greater than 75. Sharpe ratios, meanwhile, are always useful, because they involve standard deviations rather than betas.


4. A is correct. To calculate Sharpe ratio, subtract the T-bill return from the fund's return, and divide by standard deviation.


5. C is correct. The Sharpe ratio is based on the relationship between a fund's risk as measured by standard deviation and its returns.
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1. C is correct. Star ratings are not subjective, nor are they meant to predict short-term winners. Star ratings are created mathematically, and they are based on historical risk and return.


2. C is correct. Morningstar rates funds, not managers; as a result, star ratings don't change when managers leave funds.


3. A is correct. Volatile funds often earn high ratings if their returns are exceptional versus their group. Very low returning funds are unlikely to earn high ratings, as are modest risk, modest-return funds.

4. C is correct. The Morningstar Rating identifies funds that have historically performed well on a risk-adjusted basis, relative to their peers.


5. A is correct. Morningstar rates all funds for up to three periods--the trailing three, five, and 10 years.
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1. C is correct. The style box provides a snapshot of the size and price of the stocks in a fund's portfolio. To get a feel for how rapidly a fund manager buys and sells stocks, check a fund's turnover rate. 


2. A is correct. A company's market capitalization is simply its size based on the market value of its shares. It has nothing to do with earnings or sales.


3. C is correct. Larger companies are often more established and tend to be more predictable than smaller companies; therefore, their stock prices tend to be steadier.


4. B is correct. Both price/book and price/earnings ratios tell you how expensive a stock is based on some value--either the value of the company if it were sold and paid off its debts (P/B) or the value of a company based on its earnings (P/E).


5. C is correct. Funds that own expensive (growth) small companies are bound to be more volatile than those that own large, inexpensive (value) stocks or middle-of-the-road (blend) fare are.
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1. B is correct. If a fund has 50% of its portfolio in the technology sector, for example, half of its performance will be determined by the strength or weakness of that one sector.


2. B is correct. The greater a fund's price/earnings multiple, the greater its price risk.


3. C is correct. Funds with fewer holdings are more vulnerable to troubles in one or two stocks than funds with more holdings are. Sector weightings reveal a fund's sector risk, while P/E and P/B ratios relative to a fund's peers reflect price risk.


4. C is correct. Buy-and-hold managers will have lower turnover rates than managers who buy and sell stocks on short-term factors.


5. C is correct. The last fund is taking on more price risk (its P/E is higher than the other funds' P/E) and per-issue risk than the others (its number of holdings is smaller), and it is trading more aggressively.
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1. B is correct. Team-managed funds use two or more people who work together. Single-manager funds use one lead manager with others pitching in with research and trading. Multiple-manager funds are quite rare.


2. A is correct. Because index funds are passively managed--in other words, their managers aren't actively choosing which securities to buy or to sell--manager changes don't matter much.


3. C is correct. If a fund lists only one fund manager and that manager leaves, the fund may be poised for change. If only one member leaves from a team, in contrast, there should be some continuity in the fund's performance.


4. B is correct. While star managers may seem alluring, be sure that there's some back-up or bench strength in the family. Why? Because managers who do well at mediocre families eventually move on.


5. C is correct. If the fund was team managed or if the family has other skilled managers on staff, staying the course isn't a bad idea. If it's an index fund or a fund from a category with a modest range of returns, there's probably no reason to sell at all.
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1. C is correct. Your first fund should be one that owns a significant number of stocks from a variety of industries.


2. B is correct. Funds that own large companies, in general, may not be higher returning or cheaper, but they tend to be steadier investments than those owning smaller companies.


3. B is correct. Blend funds own stocks with both value and growth characteristics and typically don't favor particular sectors over others. They therefore offer more diversification than most large-value or large-growth funds do.


4. A is correct. Funds focusing on only one area of the market are not necessarily poor performers or more expensive, but they tend to be less stable than funds owning stocks from various industries.


5. C is correct. Most of the big fund families are reliable and offer a wide range of solid funds--but they aren't always chart-toppers.
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1. B is correct. Index-fund managers are passive investors: They buy what an index does. What they like or don't like doesn't factor into what gets bought or sold.


2. C is correct. Index funds are generally low cost and predictable. Index-fund managers don't pick stocks in the traditional sense, though.


3. C is correct. A fund of funds literally owns other mutual funds. Those funds may own stocks, bonds, or both.


4. A is correct. Funds of funds usually offer access to lots of other funds for a low minimum; they also limit paperwork. But a fund of funds can have high hidden costs, charging shareholders expenses on top of the expenses of the funds it owns.


5. B is correct. All life-cycle funds try to offer investors of a certain age or a certain risk-tolerance a one-stop shop. Some are indexed while others are actively managed.


